Section S.S: contid

Thursday, February 11, 2016 10:33 AM

recall: if log_M = log_N then M=N

solve:

check:

$$\ln x - \ln (x-4) = \ln 3$$

$$\ln \left(\frac{x}{x-4}\right) = \ln 3$$

$$\frac{x}{x-4} = 3$$

$$x = 3(x-4)$$

$$x = 3x-12$$

$$\ln 6 - \ln 2 = \ln 3$$

$$12 = 2x$$

$$x = 6$$

 $log_3(1-x) + log_3(x+y) = log_3 2 + log_3(1-2x)$ $log_3(1-x)(x+y) = log_3 2(1-2x)$ (1-x)(x+y) = 2(1-2x) $4-3x-x^2 = 2-4x$ $0 = x^2-x-2$ 0 = (x+1)(x-2) x = -1/x x = -1/x

log3 2 + log3 3 = log3 2 + log3 3 V

brain teaser.

$$\log_3 (\log_4 x) = 0$$
 $\log_3 x = 3^\circ = 1$
 $x = 4'$